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Il Semester 3 Year LL.B./ VIl Semester 5 Year B.A. LL.B./B.B.A. L
B.A. LL.B. (Maj.-Min. System)/B.Com. LL.B.
Examination, Sept./Oct. 2023 (June 2023)
LABOUR LAW

Duration : 3 Hours Max. Marks : 100
Instructions : 1. Answer Question No. 9 and any five of the
remaining questions.

2. Question No. 9 carries 20 marks and the
remaining questions carry 16 marks each.

3. Answers should be written either in English or

in Kannada.

Q. No. 1. Define ‘Industrial Dispute’. When an individual dispute
becomes an ‘Industrial Dispute’ ? Explain. Marks : 16
‘B3R, NG méus’wal 39, 203, QA WO WO mzsm?@
osween 'BBER,eNT 9,3,/ orZT 7 DFORD.

@ Q. No. 2. Discuss the provisions relating to welfare measures under
the Factories Act, 1948. Marks : 16
T NS @033@ , 19483 8009, ﬁmétaliemwagdwa
3,301 B0TT LUBOFNTSY, W3WFAD.

Q. No. 3. Discuss the liability of the employer to pay compensation
under the Workmen Compensation Act. Marks : 16
FFT TOTT HHICDIT 8BNS, BRAEFT BOTT TN
mdzséo'b&d 33 0.
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Q. No. 4. Explain the provisions relating to ‘Award’ under Industrial
Disputes Act, 1947. Marks : 16
BER,NT QTN T903, 19470 ©R009, 03eRF N
ROWOPRTOZ QTYH SUBWOFNTRY, VeSOAD.

Q. No. 5. Discuss the provisions of Trade Unions Act, 1926, relating to
registration and cancellation of Trade Unions. Marks : 15
PFE ROPLIAY  SOACRY, 1926898 TAFT Ropne
Speoed B TBINY wif AT DWOTHORY, WFA0.

Q. No. 6. Explain the different kinds of benefits available under
Employees State Insurance Act, 1948. Marks : 16

19483 5020783 0o, 2w 0RPRTRODE, BRTOINT DT
B, 03REWINTY, DTORD.

Q. No. 7. Explain the objectives of payment of Wages Act, and
what are the permissible deductions ? Marks : 16

BeBING RO L3PICDRT emciesrie}zgt DNWOAD TN
ROBREQIO TS 3RIND 0TT BRI ?

Q. No. 8. Write short notes on any two of the following : Marks : 2x8=16
3 3PN 03NPTTTN addiﬁowo@% OTO e W3OWD :

(a) Appropriate Government
ARBHT XFFT

(b) Collective Bargaining
RAUET T

(c) Strike
=0HT.
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Q. No. 9. Solve any two of the following problems. Marks : 10x2=20
Z NS ARYTTTR TR RBOR, NI, HOTORD.

(a) A workman while performing the duty of the employer
' died due to an accident. It was proved that at the time
of the accident the workman was under the influence of
intoxication. Whether the employer is liable to pay the
compensation ?
WY, BOAMOR IROED Bevs TP [T, ATF RN
8 BTFTBT F0N0T JIFI BROTVBS. B33, STFIBYY
ROPIT RoTPF3Y, & FORMT BT OTY, BT
DOWT  FWEBMOITW. [INAEFD TOTITI) AT
mzséh;ﬁe ?

(b) In an industry, there was continuous unrest leading to
strikes and lockouts. The employer closed down the
industry. Does this amounts to closure ?
2WOT %maéo&q Q3080 LABNGITY BVHT TN Wen
B, MR 0 BREEAWIR). 67 TROTD 3 ModEOIY
ROUTD. [T §mOTOD DAVAVAL QRRIZT03oe ?

O (c) Employees of Raj Bhavan apply for registration of Trade
Union. The Registrar of Trade Union refuses to register.
Decide.

OB PRST FPBOT0 TRFT ROPHIY, FRCOTTOVRLD S
RORTT. RO 90T000 Jee0TE [WRRERTLO
QUBOROTT. AGPFOAD.
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